o 2= N =

(o = [

— S TEeT

053 0431

X

1D 3231 ‘979844 d0l 2dhy dTuge
447707
%¥ﬁgm @@>®®em%¥og@ @@m@

v 0431

X

(1°7)= Mb 92a1g ‘J1yg44 4oL 3dny Jruge

Lavd [NUd-

LALYS Dohdo [5-140U5 (GG

DDDDDDD

=] (1= hb sdatg ¢ adhy d1uge
= INTIWS 1 3030d
= }JTYS Panaa[s-140US (GEG

IENRIYEN

X

= = [ (5 [ (- =2 = [ N =

= T

= 4 [ (= = [ (- =2 /3 [ N

= T

S
~—
o
L~
|
"
L
L
o
L
ay
—
T
= g
a4 o
H—
i
(I
1
L
T
d o

adh) 14qe |

N3315
| JTYS PIASA[S-140US (GEC

DRATN-

o[ HRAlGH]

1\1\1\1\1\1~1~1~1(1\1\1\1\1\1~1~1~1~1~1~1~1~1~1;;;;;;4;4;;;;;;;4;4;;;;;;;;;f;f;f;f;f;f;f;f;f;
1\1\1\1~1~1~1~1~1~1~1~1~1~1~1~1~1~1~1~lf;r;;;ra;4f4ra;a;a;;;;;;;;;;;;;;;f;f;f;

(LARUEN

X

(1°7)= Mb 8darg © adhy d1ugey

134304

LRATN=

M

1JTYS Panas[s-140US (GEG

5 [RATHH]

053 0431

X

(0'7)= NID 9231y 9748y 4 dol adhy Prage

Labq A4
| JTYS PondalsS-14ays (6eG

CODANTN -

U R TTEIN

) TR

_CTDDAT (LT

|

(CANIEN]

X

(1°1)= Mb 9d81g ¢ adh) D14

04 INOYS

1 JTYS PaAdDTS-140US (GEG

1 1 =

- 1 =

I

|

(1'1)= b 33919 ¢ adhy draqey
171381104

1414S P3A3I[S-140YS DGEG




	L-5350_SHORT-SLEEVED_SHIRT

